UNIT 3. BASE TWO NUMERALS

YPOK 3. bIHAPHI YACIA

ETAMN1. MEPEOTEKCTOBA POBOTA

GRAMMAR: CONTINUOUS TENSES

FPAMATUYHUIA MATEPIAN: YACOBI ®OPMU 'PYMU CONTINUOUS
TeopemuyHul acrnekm

YacoBi ¢opmu rpynu Continuous 103Ha4YarOTh TpUBALY IO,
MpeJICTaBlIeHy sK: 1) mpoliec, MO BIJIOYBAEThCS Ta CIOCTEPITAETHCA
Oe3nocepeiHbo y MoMeHT criiikyBanHs (Present Continuous);

2) potiec, 110 BijOyBaBcs y IIEBHUI MOMEHT Ta 3a IIEBHUX OOCTaBUH y
MUHYJIOMY 4acl CTOCOBHO MOMEHTY crinkyBaHHs (Past Continuous);

3) mpotiec, 1110 Ma€ BIOYTHCS Y MaiOYyTHROMY Yaci 4epe3 JOMOBJICHICTh
abo mporiec, mo nporao3yerbes (Future Continuous).

TunoBum 17 ycix TpbOX MEPENiUEHUX 4YacoBUX (DOPM € MexaHi3M
yrBopenus ¢popm Continuous:

1) HasBHICTH JTOMOMIKHOTO JiecioBa ‘to be’ y BIAMOBIIHOMY YMCII Ta

0co01, a came:

Present —am /is / are

‘am’ BignoBigae 1 0co0i OTHUHU;
ey s . . .
is’ BigmoBigae 3 oco0i oqHUHMN;

‘are’ Bizmosimae 1, 2, 3 ocodaM MHOKMHHU

Past — was / were
‘was’ BignoBigae 1, 3 oco0i oqHHHH;

‘were’ Bianosijgae 1, 2, 3 ocodaM MHOKUHHA
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Future — will be / shall be
‘shall be’ Bixnosigac 1 0co0i olHUHU TA MHOKUHU;

‘will be’ BizmoBigae 2, 3 0co0i OTHHHHN Ta MHOKHHH.

2) HasABHICTh HE3MIHIOBAHOI YACTUHHU — |Ai€CTAOBO + ing

MexaHi3m yrBopeHHs1 YacoBux ¢popm rpynu Continuous:

¢opma nieciioBa to be| + |ocHoBa xiecsioBa| +|ing

IHam’aTka: IIpopuBHUII NPUTOJI0CHUI HANIPUKIHIN CJI0BA Y MO3U Il

MiCJIs1 KOPOTKOI0 rOJIOCHOT0 YABOKETHCH NMEPea | = []ﬂg

Hanpuxkian: sit — sitting , travel — traveling;
I YIBOIWETHCS 1l Harosocom: to refer — referring;
y 3aJMIIaeTheA: to play — playing, to stay — staying;

ie 3amiHIO€THCA Ha y: to die — dying, to lie — lying.

Okpemy TpyIy CTaHOBJSITH JIECTOBA, MO 32 CBOIM 3HAYEHHSIM HE
MOXYTh BKHBaTUCh y 4yacoBux Qopmax rpynu Continuous. /[iecioBa
1ici Tpynud HE NO3HAYaKTh JII0 Ta CTaH SK TPUBAIUN TIpolec, o
B1IOyBa€ThbCsl y IIEBHUM MOMEHT. 3a CBOIM JIEKCHYHHUM 3HAUYEHHSIM IIl
JIl€CTIOBA MONUISIFOTHCS, BIATIOBITHO, HA TPH KaTETOPii:

1) niecnosa, 10 MO3HAYAKOTH:

a) pO3YMOBY IisUTbHICTb;

Hanpuxknan: to know — 3natu; to understand — po3ymitu; to believe —
BipuTH; to remember — mam’aratu, 3raayBaty; to forget — 3a0yBatu; to

recognize — mi3HaBaTH; to think/ to reckon — BBakaTu, BUCIIOBJIIOBaTH

TYMKY.
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b) eMomiitHy AiSTBHICTD, TOYYTTA.

Hanpuknan: to love — xoxartu; to like — momoOnaru; to want/ to
desire — Oaxkatu; to want / to wish — Bojitu; to fancy — BiguyBaTu
IpUcTpacTh; to worship — oboxkHroBaTH; to dislike — HemomoOIATH; toO
hate — nenaBunity; to loathe — BiguyBaTu oruny;

2) miecnoBa, IO MO3HAYAIOTh CIPUNHATTS Yepe3 OpraHU YyTTiB.

Hanpuknan: to see — 6auut; to hear — aytH; to smell — 4yt HOCOM;
to taste — BiguyBaTu cMak; to feel — BimuyBaTu , MOUyBaTHUCH;

3) nmiecioBa, 10 MO3HAYAIOTH:

MOYATOK YW 3aKIHYEHHS 11, TAMYACOBY TIEpEPBY a00 TPUBATICTb.

Hanpuxnan: to begin/ to start/ to commence — nounHatu; to stop/ to
finish — 3akiauyBaTH; to pause — poOuTH nepepBy; to continue/ to go on
—TMPOJOBKYBATH;

b) HeTpuBany, MUTTEBY [IIO.

Hanpuknan: to notice — 3BepHYTH yBary Ha; to glimpse — KuHyTH
norJisyT Ha; to glance —MoOTIsIHY TH;

C) TIOCTIMHY PUCY, HE3AJICKHY B1J] TAMYACOBUX OOCTaBUH.

Hanpuknaja: to possess — BOJOAITH, OYTH BJIAaCHUKOM; to contain —
MmicTuTH; to consist — ckiuagatuch 3; to seem/ to appear —
BBAKATHCh,3/1aBATHCH;

4) MoJ1aNibHI1 JIIECTOBA Ta iX €KBIBAJICHTH.

Hanpuknan: may/ can / to be able to — Mmatu gi3uuHy 3Mory ado 103-
BOJI 3p0oOHUTH MOCh; must/ have to — BiguyBaTtu moTpeldy 3pOoOUTH MIOCh;

ought to / should — pagutu 3pobuTH MOCH.
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lMpakmu4Hi 3ae0aHHs

I'PAMATHYHI BIIPABH

YT1Bopits popmu Present Continuous, Past Continuous Ta Future

Continuous y mogaHMX HWKYe PeYeHHAX, KePyHUYHCh B3ipleBHMH

MOICJIAMM.

PATTERN 1.

I am doing(—»|

I was doing —»

I shall be doing

(at the moment) ( a moment ago)

(in a moment)

EXAMPLE: I am reading a book at the moment. — I was reading a book a

moment ago. — I shall be reading a book in a moment.

I. 'm multiplying 6 by 4 at the moment. 2. I’'m checking the

calculations at present. 3. I’'m adding 25 to 6.

PATTERN 2.

He isn’t doing

>

He wasn’t doing

_’

He won’t be doing

(at the moment) (a moment ago)

(in 2 moment)

EXAMPLE: He isn’t reading a book. — He wasn’t reading a book. — He

won’t be reading a book.

1. The teacher isn’t making any calculations at the moment. 2. The

student isn’t writing any mathematical statements at present. 3. Max isn’t

solving any problems at the moment.
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DOHETHYHI BIIPABH

1. IlpoananizyiiTe CKJIaAHI 32 BUMOBOIO CJIOBA, 1110 HABE/EHi Y CIIMCKY.
IIpounTaiiTe iX yrosoc, 3BepTal04ud yBary Ha BUMOBJICHHS 3 OIIO-
PO10 HA TPAHCKPHUIILIIO.

2. IlpounTaiiTe CNUCOK CJiB 1Ie pa3, 3BepTAI0YM YBAry Ha PHUTM
AHIIINCHKOT0 MOBJICHHSI TA HA HAT0JIOC Y CKJIAJHUX CJIOBAX.

3. llpuaigits yBary iHTOHAIHHOMY O(OPMJICHHI0 CIHHMCKY CJIB.

Bumonasiite ciioBa 3i CIIMCKY CIIaHHUM TOHOM.

Gottfried Wilhelm von | ['gPtfrdt'vilhelmfgn'lalpnlts]
Leibnitz

power ['paVq]

circuit ['SWkIt]

useless ['jHsIIs]

numeration ['njHmMQq ' relSqn]
advantage [qgd'VRNtIG]

to correspond ["kPris'pPnd]
machine [mqg'SJn]

mechanical [ml'kxnlkqgl]
disadvantage ["dlsqd' vVRNtIG]
binary ["balnqgrl]
extensive [Tks'tenslv]

ETAIN 2. POBOTA 3 TEKCTOM

BASIC TOPICAL TEXT. BASE TWO NUMERALS

1. YBasKHO NIPOYMTANTE TEKCT YI0JI0C, 3BEPTAKYM YBATY HA BUMOBY CJIiB, 1110

HaBeleHi y rooHeTH4HIN Bpasl. /li3HalTeCh, PO 10 WAETHCS B TEKCTI.
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During the latter part of the seventeenth century a great German
philosopher and mathematician Gottfried Wilhelm von Leibnitz (1646-
1716) was doing research on the simplest numeration system. He
developed a numeration system using only the symbols 1 and 0. This
system is called a base two or binary numeration system.

Leibnitz actually built a mechanical calculating machine which until
recently was standing useless in a museum in Germany. Actually he made
his calculating machine some 3 centuries before they were made by
modern machine makers.

The binary numeration system introduced by Leibnitz is used only in
some of the most complicated electronic computers. The numeral 0
corresponds to off and the numeral 1 corresponds to on for the electrical
circuit of the computer.

Base two numerals indicate groups of ones, twos, fours, eights, and
so on.A base ten numeral can be changed to a base two numeral by
dividing by powers of two.

From the above you know that the binary system of numeration is
used extensively in high-speed electronic computers. The
correspondence between the two digits used in the binary system and
the two positions (on and off) of a mechanical switch used in an
electric circuit accounts for this extensive use.

The binary system is the simplest place-value, power-position system
of numeration. In every such numeration system there must by symbols for
the numbers zero and one. We are using 0 and 1 because we are well
familiar with them.

The binary numeration system has the advantage of having only two
digit symbols but it also has a disadvantage of using many more digits to

name the same numeral in base two than in base ten.
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It is interesting to note that any base two numeral looks like a numeral
in any other base. The sum of 10110 and 1001 appears the same in any
numeration system, but the meaning is quite different.

If we must confine ourselves to one system of notation then there can
be little doubt that in the nearest future we’ll be using predominantly the

binary numeration system.

IHIPAKTUYHI 3AB/TAHHA HA PO3YMIHHA TEKCTY

1. IlpounTaiiTe npoBigHUMA TeKCT. BusHaure:

a) 0 rOBOPUTHCHA NP0 BUHAXOMKCHHH KOMI’KOTepa; b) mio
TaKke MO3MIiiiHe 3HAYEeHHA; C) IO TakKe oimapua cucrema
YUCJIEHHS.

2. IlinkpeciTh peYCHHS, B AKUX TOBOPUTHLCH MPO TE:

a) §K CHIBBIIHOCATHCS CHCTEMH 4YHCJEHHA Ta JAHUIOT
CJIEKTPUYHOI0 CTPyMy; b) fIKI iCHYIOTHL HEXO0JIKM Ta IlepeBaru
OiHApHOI cMCTEMH YHMCJICHHSA; €) 10 CKJIAAA€ chepy NPHUKJIIAJTECHHS

OiHApHOT CHCTEMU YHCIEHHA.

POBOTA 31 CVIOBHUKOM

1. UYwraiite Brogoc 3a BHKJaZa4eM HACTYNHI cJ0Ba Ta
cioBocnogaydyeHHsa. Hamaraiitech 3amam’ATatH  sikoMora

OliblIe aHIJIIHCBLKHUX CJIIB Ta CJOBOCIOJYY€EHb.
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English words | Ukrainian English words Ukrainian
equivalents equivalents
complicated | yckiamHeHMIT to translate into MIEPEBECTH 10
equation PIBHSIHHS to represent MOKa3yBaTH
to compare MOPiBHIOBATU mathematician MaTeMaTHK
numeration CHCTEMa YHCIICHHS | extensive use HOIIUPCHE
system BUKOpPHUCTaHHS
calculating obuncioBalibHa | switch IepeMHuKay
machine MallliHa
binary O1HapHUI correspondence CHiBBITHOIIIEHHSI
power CTYTiHb to do research JIOCITIJKYBaTH
base two OlHapHE YKCIo base ten numeral JIECATKOBE
numeral 9UCIIO
place-value MO3UIIIITHE advantage nepenara
3HAYCHHSI
electric circuit |cTpyMm disadvantage HEJIOJTIK

2. Y macrynHid rpymi cJiB MICTUTBCH 9 ouHMIb 3i CJIOBHHKA OO
YPOKY. 3HAiIITHL Li CJIOBA Ta YCHO NCPEKJIALITH iX YKPAiHCHKOIO
MOBOIO.

a) correspondence; b) to indicate; c) switch; d) operation; e) to

combine; f) to develop; g) zero; h) symbol; 1) binary; j) mathematician; k)

to apply; 1) place-value; m) calculating machine; n) to check;o)

numeration; p) power; q) digit; r) disadvantage; s) high-speed computer.

3. 15 caiB y HacTynHi#i rpymi BiTHOCATBHCS 10 TeMH Ypoky. Ha3Bith i
CJIOBA TA MOSACHITH iX 3HAYEHHS aHTJIHCHKOI MOBOIO.
a) numeration system; b) integer; c) base ten notation; d) fraction;e)
place-value; f) quantity; g) power-position; h) whole number; 1) equivalent

fractions; j) digit symbol; k) various; 1) nominator; m) method of research;
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n) equation; o) technique; p) to multiply; q) to divide; r) base; s) extract; t)

calculating machine; u) source; v) deduction; w) circuit.

MEPEKJIAJ] TEKCTY

1. IepexkaaaiTe NPOBIIHUI TEKCT YKPAiHCHKOI MOBOIO 3 OIOPOI0 Ha

CJI0BHHK.

JEKCUKO-I'PAMATHYHI BIIPABU

1. 3HaliaiTh y TEKCTI pPeYeHHH, IO MICTATH 4acoBi ¢gopmu Present
Continuous Ta Past Continuous, BOUIIITH iX y BiANOBIAHI cTOBIILI

TA0JINIIL, 10 MOIAETHCH JAJIi, Ta MEePeKIAITh YKPATHCHK0K MOBOIO.

Present Continuous Past Continuous

2. BUnumiTh OKpeMoO 3 TEKCTY Ai€CJ0Ba, 110 32 CBOIM 3HAYCHHSM He
MOSKYTh MaTH 4acoBoi (popmu Continuous.
3. IIpouuTaiite yBakHO JAe(iHINII0 Ta MIIKPECIITH Yy CIHCKY CJI0BO,
10 BU3HAYAETHCH Wi€I0 JiediHili€Io:
a) integer; binary; decimal.
a base two numeral;
b) digit; fraction; symbol; numeral.
a symbol that represents a number;
c¢) calculating machine; calculator; computer.
an electronic machine used for storing,organizing and finding words,
numbers and pictures, for doing calculations and controlling other machines;
d) complex; complicated; concise.

too difficult to deal with.
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4. BigHOBITB JliTepH, 110 HE BUMOBJISIOTHCS B IIUX CJIOBAX:
circ _it, iloso er,so rce, cor espondence.

5. ¥V Ko:XKHOMY 3 pedeHb He BHCTA4Ya€ OJHOIO ¢JoBa. 3rajaiTe ci0Ba
HbOr0 YPOKY Ta 3HAWAITHL CJ0BO, HI0 Hal0OLIblIe MiAXOAUTH 3a
CBOIM 3HAYEHHSAM TAa TPAMATHYHUMH XapPAKTEePHUCTHKAMU.

1. Leibnitz actually built a mechanical

machine. 2. The numeration system is used only in some of

the most complicated clectronoc computers. 3. In every

system there must be symbols for the numbers zero and

one. 4. A ten numeral can be changed to a base two numeral by
dividing by powers of two. 5. During the latter part of the 17" century

Leibnitz was doing on the simplest numeration system.

ETAN 3. NICNATEKCTOBA POBOTA

1. Ha 0a3i momaHmx cJiB €aMOCTIiHHO YTBOPiTb  pPeYeHHHA Ta
npeacTaBre iX y BHIVISII MiHi-IHTepB’I0 32 CXeMOIO: NHUTAHHS —

BiINOBIAL. (Yac BUKoHaHHsA 6 XBUJIMH).

PATTERN: Numeral; ten; changed; can; base; a; be; to; numeral; two; a; base.
Can a base ten numeral be changed to a base two numeral? — Yes, it can.

A base ten numeral can be changed to a base two numeral.
1. They; will; making; be; some; at; lab; interesting; the; experiments.

2. Digit; being; changed; every; position; the; is; of.

3. System; place-value; numeration; the; of; is; system,; binary; simplest; the.
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2. 3HaiiliTh peYeHHsl, HI0 32 CBOIM 3MiCTOM 0JM3bKIi 10 TeMH YPOKY,
Ta apryMeHTyiiTe cBiil BHOip.

1. Information is a set of marks that have meaning.2. It’s impossible to
imagine our life today without computers.3. Computers are applied in different
spheres of our life. 4. Computers can perform mathematical operations and
make more accurate calculations than the humans.5. Though a computer is a

machine and not a human being computers also make mistakes.

3. a) lIpounTaiiTe HACTYIIHUI1 TEKCT Ta 3’sicyiiTe, MPO 10 HAETHCH B
TEKCTI.
Computers today are running factories, planning our cities and towns
and tecaching our children.A computer is a machine that can take in

information (problems and data) , perform operations and put out

answers.Some scientists say that without the computer life in the 21%
century will be impossible.The computer like the telephone or electricity,

1s becoming an ordinary thing of every day.

b) CupoOyiite 3po3yMiTH 3 TEKCTY 3HAYEHHS CJIiB, SIKI IIJIKPECJICHO.
JlaiiTe iXHE BUBHAYEHHS AHIJIIHCbKOI0 MOBOIO.
¢) BucioBith cBO€ cTaBJjieHHs 10 igei Tekcry. HaBenith BJacHi

apryMeHTH 200 KOHTPAPIryMeHTH.
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